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QUESTION 1
11
111 @ | MOS= 62* [£ at centre = 2%  at cireumfimiddelpts==Jommrek=2] | ¥ 3 R o
|
111 &) | L=31" [equal chords; equal =5 /= koorde; = 28] SR o
|
IN=NP and LO=0M * LO=0M
1.1.2 1
- ON=7PM [ mudpoint theorem ‘middelpumiztelling] S SR
1
- ON=7M5 [PM = M5] <5
)
OR
T:T1=EH]' [hne from centre to mudpt chordhm v midpt na midps k) v SR
P=90° [ insemi-circlelin halfsirksl]
L iz common/gemesn
- ANLO || APLM (££25) v SR
NL_NO_1 v 5
FL PM 2
1
ON=7PMM
1
- ON=>% M5 [PM = MS] 5
)]
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1.2
10x 23x
121 %=%nﬂumﬂdﬂnﬂﬂnmmmuﬂw /R
b || sy van A OR eweredigheidzt: KN |[EM)
AN 3y _3
AM 35y 5 <5
]
AM 10x .
1.2.2 el el
MC 23 e
AM=5y=10x - yp=2x 3
LC MC . :
E=ﬁ [ine || one side of A OR prop theorem; KN |[LK’ v R
b || sy van A OR eweradigheidst; EN||BA]
2 _2x 23 v 8§
2y 4x 4 ()]
OR
AM 10x .
MC 2
AN 3y 6 L
MN 2y 4d4x
LC MC . :
E—m [line || cne side of A OR prop theorem; EN LW’ v R
b || sy van A OR eweredigheidsr; KN B
“Bx_Dx 1 v 8
2y 4x 4 (3)

[13]
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QUESTION 2

4

=

21 | B=x [£'s opp = ades! <& tesnoer = sye] <5
M, =2x [ext Zof A] OR M;=180"—2x [£sof A] S5 SR
BM =M [E_msﬁnmacnmnnnpui.nﬁrmﬂmamufr 5 IR
dieselfde pumir]
N, = 130:—21 =90°—x [£'s opp=sides/s tesmoor = sye] | + answer
OR (6)
MM =BM [ 2 tans from a common pomt/ragklse varmait 5 vE
digselfde pumir]
E==I:I, [£s opp = ades <& tesnoor = 5ya] <5 R
ﬂ, =x ['s opp=-sides/ .78 teenoor = sye] S
In A KBN:
x+x+B, +1, =180° [sum of "5 of 4]
2x+2H =180°
T+ I:II = 90"
I:I, =90"-x + ANSWEr
(6)
29 MBA =B, +B;=90" [tangent|diameter/raakhm imiddelbm] | 5 R
=90" - (90"~ x)=x v 5
B,=K=x -
- AB 15 a tangent'raakhm comverse tan-chord theorem « B
omgeakesrde raak] koordst]] (5}

4|Page




EC FET CURRICULUM: GRADE 12 MATHEMATICS TOPIC TEST 4 OF 2020 MG

OR )
B, =N,
E] + Eig =x+ (90" - x) =90"

5
-. EN 15 diameter'middelhm  [converse 2 mn sexm-cwrele’
) omgekeerde 2 in halfsirkel] “ R
MBA =B +B, =90° [tanzent _ diameter]
- AB 15 a tangent'raaklyn comverse tan-chord theorem/ 5 YR
omgekesrde raakl koordsr]] « B
(2)
[11]
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QUESTION 3

3.1

D

25

3.1

M N
E F
W -
B C
Constr: Let B and W he on AB and AC respectively such that + Constr / Eonstr

AM =DE and AN =DF. Draw MN.

Eonzt: Meark M ean N op AR en AC onderzkeidelik qf sodanig dar
AM = DE en AN =DF. Ferbind MN.

Proof:

In A AMN and A DEF

AM=DE [Constr]

AN=DF [Constr]

A=D [Given] + AAMN=ADEF
. AAMN=ADEFF(SAS)
- ANN=E=B 7SS
MM || BC [comesp<'s are equal'vorsenkomstige <& =) *MHN || BC and
%:A_Afl [line || one side of A OR. prop theorem: MN|BC] |  AB _AC o
AR A AM AN
. —=— [AM=DEand AN=DF]
DE ©DF
(&)

6|Page




EC FET CURRICULUM: GRADE 12 MATHEMATICS TOPIC TEST 4 OF 2020 MG

3.2
A
E
3.2.1 @) | pOB=20°
DGF=G, +G, =90° [£ in semi-circlel. in halfiirks]] S SR
DOB+DGF=180°
- DGFQ 15 a ovehie quad.  [converse: opp s of cyehie quad! <R
omgekaards teenoorst 22 v koordah)
OR
£5 of quad = 180°/ =& van koordevh = 180 (3)
OR
EOB=90"
DGF=G, +G, =90° [£ in semi-circlel. in halfsirksl] sEIR
EOB = DGF
SDGFO s acychequad . [comwerse: ext & = opp ot £ <R
omgeksards buite == teenoorsi 2]
OR
ext/ of quad = opp 1ot A Tuite"v vl = tesnoorst =] (3}
321 ® F, =D [ext Zof cyclic quadibuite vkoordevh] | g v &
Gy +G, =D [ten-chord theorem/raak] koordst]
E=G 46, e
-GL=CF [ sides opp equal #=isye teenpor = a] 5)
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3.22 (a) |AB=DE= 14 [drzmeters/miiddelbime] v 5
~. OB = T umits v 5
~BC=0C-0B=11-7 Answer cnly: full marks
= 4 umits 3
3)
322 (b)) | In ACGBand ACAG
ﬁ'rl =A=1x [tan-chord theorem/raakl koordss] v SR
ACGB )| ACAG [£, 2, 2] v 5
CG CB
- = v 5
CA CG
Cez_ 4
18 CG v CA=18
CG*=T2
CG=+72 or 642 or 8,49 mits  amrswer
(3)
3.22 (&) |OF=0C-FC
=11-472 v OF
OF
mﬁ—ﬁ + trig ratio
N7 oo
7 : v substhrhion
E=19.76" ¥ answer
@
OR
OF =0C -FC
=11-4T2 + OF
FE! =0B* +OF*
=T +(11-+/72)
FE=T7437.=744
OE : OF : .
=— =— o aho
cosE T OR sm E FE ng
T _11-472 _
_ﬁ_ﬂ:gil' - T4':I' _U‘SSE v S-I.IhSh.'l'l.mm
E=1976" E=1976° Y answer
)
[26]
TOTAL: 50
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